ts ﬁv\ﬁﬂt

K=& + B — K B LR — ES= + IR

2H:+02—> 2H:0 2AG20 = 4Ag+0

e REKEF N L - REEF UYL + TRERE + K

K 22— 21V i

S 2NaHCOs = Na:COs+ CO2+H:20

C+ 02— CO: B(LER+ sk — 80 + —BbiR=

B+ B - Bk 2Cu0+C — 2Cu+CO:

2Fe+ 02— 2Fe0 B — 183 + K&K
B . 2HC| — H2+Cl2

S+ R — B B L8+ K — 8 + K

2Cu+ O2— 2Cu0O CuO+Hz —» Cu+H20

RTXVIL+ BE ->BIET R T L EF'%D&FET\

2Mg+ O2 — 2MgO

o | FEEE s LA IBEE+ KB LRV L = K+ B RUD LA
Fe+ S — FeS HCI+NaOH — H20+NaCl

i + 15 — 15{bIf

Cu—+ Cla — CuClz

FRBE 4 KBSt/ NI Ly — K +-FREE/ N7 L
H2.S04+Ba(OH).— 2H,0+BaS0O.,




